)

dn

=8>1

(b) Since "lirr; ,u"*' = 0.8 < 1. part (a) of the Ratio Test tells us that the series 3_ an is absolutely convergent

dn

(any theretore convergent),

w, Since fim )%ﬁﬂ = i. the Rauo Test fails and the series ) a, might converge or it might diverge.
n e~ 2O

n? an 2 gn 1\* 1 1
26. The series > —hasposmvctcrmsandhm =4+ = lim n+1) 2— =lm(l+=) r5=5<
n=1 n—oo Qp n—oo an+1 n2 n—soo n 2 2

so the series is absolutely convergent by the Ratio Test.

n4l /o, FR R
22 Using the Ratio Test, lim [22*L| = (=3) /("'+1)!l =3 lim —— = ies i .
n—co| Gn noo | = (=3)" /nl A 3nlin:°n+1 =0 < 1,sotheseriesis _
absolutely convergent. :
31. (a) lim M = -—n-a—-—:', = lim —1—3 = 1. Inconclusive.
n—co| 1/nd n—co (n+1)° n—oo (1+1/n)
, L m+1) 27| n+l .. 1 1
3 ®) fim | | = =2 T nvergent).
. (=3)" vn . n . .
. =3 - wclusive (divergent).
© I | Jert ot T et e+l (divere
1
&Y" i n+l 1 + n = \/1 - l/n +1 = 1. Inconclusive.
(@) Yim, T im=12 n-oo +n 1/n2 +(1+1/n)? J
. (a) hml——* -——1—~2!—!—lim'—-£— —Illim——l— zj-0=0 < 1, so by the Rmw
A, Wr1)! 2| m—ee|n+1]| ,._.,,n+1" A Y

Test the series Z _ convcrgcs for all z.

n=0

(b) Since the series of part (a) always converges, we must have lim % = 0 by Theorem 8.2.6.
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